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Cuadro 7 (continuación 4)/Table 7 (continued 4)
Costa Rica: tablas abreviadas de mortalidada

 Costa Rica: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.018 0.018  100 000  1 785  98 556 0.981 b 7 305 335 73.1
1 4 0.001 0.003  98 215   324  392 036 0.997 c 7 206 780 73.4
5 5 0.000 0.002  97 890   158  489 058 0.998 6 814 744 69.6

10 5 0.000 0.002  97 733   191  488 186 0.997 6 325 686 64.7
15 5 0.001 0.004  97 542   380  486 758 0.995 5 837 500 59.8
20 5 0.001 0.006  97 161   580  484 358 0.994 5 350 742 55.1
25 5 0.001 0.007  96 582   678  481 214 0.993 4 866 384 50.4
30 5 0.002 0.008  95 904   750  477 644 0.991 4 385 170 45.7
35 5 0.002 0.009  95 154   887  473 550 0.989 3 907 527 41.1
40 5 0.003 0.013  94 267  1 188  468 363 0.984 3 433 976 36.4
45 5 0.004 0.018  93 079  1 719  461 096 0.976 2 965 614 31.9
50 5 0.006 0.029  91 360  2 629  450 228 0.962 2 504 517 27.4
55 5 0.010 0.047  88 731  4 141  433 304 0.937 2 054 289 23.2
60 5 0.017 0.080  84 590  6 755  406 063 0.898 1 620 985 19.2
65 5 0.027 0.126  77 835  9 810  364 650 0.846 1 214 922 15.6
70 5 0.041 0.187  68 025  12 696  308 385 0.778  850 272 12.5
75 5 0.061 0.266  55 329  14 712  239 865 0.683  541 887 9.8
80 5 0.096 0.387  40 617  15 715  163 797 0.554  302 022 7.4
85 5 0.151 0.542  24 902  13 486  90 795 0.406  138 225 5.6
90 5 0.235 0.708  11 416  8 077  36 886 0.260  47 430 4.2
95 5 0.356 0.851  3 339  2 842  9 590 0.090 d  10 544 3.2

100 ω 0.521 1.000   497   497   954   954 1.9
Mujeres/Females

0 1 0.014 0.014  100 000  1 381  98 787 0.985 b 7 826 102 78.3
1 4 0.001 0.003  98 619   285  393 709 0.998 c 7 727 315 78.4
5 5 0.000 0.001  98 334   113  491 387 0.999 7 333 605 74.6

10 5 0.000 0.001  98 221   127  490 786 0.998 6 842 219 69.7
15 5 0.000 0.002  98 094   175  490 031 0.998 6 351 433 64.7
20 5 0.000 0.002  97 919   218  489 047 0.997 5 861 402 59.9
25 5 0.001 0.003  97 700   279  487 804 0.997 5 372 355 55.0
30 5 0.001 0.004  97 421   376  486 166 0.995 4 884 551 50.1
35 5 0.001 0.005  97 045   525  483 913 0.993 4 398 385 45.3
40 5 0.002 0.008  96 520   780  480 651 0.990 3 914 472 40.6
45 5 0.002 0.012  95 740  1 184  475 742 0.984 3 433 821 35.9
50 5 0.004 0.019  94 557  1 822  468 228 0.975 2 958 080 31.3
55 5 0.006 0.031  92 735  2 833  456 592 0.960 2 489 851 26.8
60 5 0.010 0.049  89 902  4 382  438 555 0.937 2 033 259 22.6
65 5 0.016 0.078  85 520  6 639  411 002 0.900 1 594 704 18.6
70 5 0.026 0.123  78 881  9 727  370 087 0.844 1 183 702 15.0
75 5 0.043 0.194  69 154  13 384  312 308 0.761  813 616 11.8
80 5 0.069 0.296  55 769  16 522  237 542 0.647  501 307 9.0
85 5 0.112 0.435  39 247  17 055  153 598 0.506  263 765 6.7
90 5 0.177 0.600  22 192  13 305  77 697 0.353  110 167 5.0
95 5 0.275 0.766  8 887  6 805  27 422 0.155 d  32 470 3.7

100 ω 0.412 1.000  2 082  2 082  5 048  5 048 2.4

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


